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EFWIA| F3F |20491.2 | 1ke 788 113 32 = M KX | 20285 |1kg 2,646 594 216
y2) S| FIE | 1,631.2 | 1ke 270 97 65 [S=F< &5 | 1,497.3 |1ke 1,312 792 180
[CALCA| F2E |152800 |1kg 184 140 54 |E—< V| BH 572.5 | 1kg 468 468 162
ZFE S BE 70.7 | 1kg 990 65 — ES5465CL| deimE 30.0 | 1kg 108 108 —
ol — — | 1ke — — — WAIFA|BRE| 1520 |1ke 1,512 1,080 648
[ <& L] Z$ |15785.0 | 1ke 97 97 43 [ZAES|ERSE 96.0 | kg 2,700 1,404 778
CEDOEH| & 980.0 | 1kg 486 432 324 |[AEEE®H| — — 1kg — — -
FoARY|l FIE |31,900.0 | 1kg 119 67 54 | & | — —  |1ke — — —
EF3hAE3| ik 586.0 | 1kg 840 840 216 [MA L K| i 1,784.0 | 1kg 680 238 151
B F| EE | 1,1320|1ke 1,944 302 81 [[Fhi L& dL#iE | 8,370.0 | 1kg 108 86 65
HhEoE| -— — 1kg — — — &L =R 215.5 | 1kg 356 356 1
& D X FIE 120.0 | 1ke 864 540 324 |[fx A b| dbiEiE | 6,482.1 | 1kg 1,143 324 173
LRAEL| BB 455.4 | 1kg 864 720 270 [f=F 4 F| dLi#EE | 34,960.0 | 1ke 97 70 63
[z b| 88 | 1,375.0 | 1kg 864 702 270 [L &5 A =40 162.2 | 1kg 878 864 3561
FRISHR|H—=r507 45.5 | 1keg 1,296 1,188 — ELWV=1H BF 506.0 | 1kg 1,944 864 432
H757—| Tk 660.0 | 1kg 324 216 15 [F27F1F3 -— - 1kg — — -
Jovay—| &8 | 3.661.7 | lkg 504 414 162 | & C| &S | 1.330.6 | 1ke 852 432 234
L 2 X| &F 863.1 | 1kg 2,203 54 — ADERIT| EE | 3,300.0 | 1kg 270 243 216
EWS5Y| BB | 1,5635|1ke 324 324 65 |[LHLC=IF| &% | 1,833.5 | 1ke 864 360 —
WMEBO| dLiEE | 2200 | ke 162 162 84 |5 H| - — | 1ke — — —
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Bmanal BEAR |29,975.0 | ke 713 270 130 [ €& E| - —  |1ke — — —
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